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1. Find the missing value in the equation :3=48:8

(i) 19 (ii) 21 (iii)) 17 (iv) 15 (v) 18

2. Find the missing value in the equation24: =24:6

(i) 6 (ii) 4 (i) 7 (iv) 5 (v) 9

3. Find the missing value in the equation34:1= 16

(i) 204 (ii) 201 (iii) 207 (iv) 203 (v) 205

4. Find the missing value in the equation38:1=76:

(iy 3 (i) 5 (i) 2 (iv) 1 (v) (-1)

5. Find the product of extremes 0f10:16 and15:18
(i) 182 (ii) 177 (iii)) 180 (iv) 240 (v) 179
11 2 19

16
6. Find the product of extremes of — :— and — : —
5 19 11 10

(i) 1>2 (ii) 6 (iii) 2 (iv) 1>4 (v) 1>2
i) —— (i i)y — (iv) — (v) ——
25 19 25 23
7. Find the product of means of6:4 and13:2
(i) 55 (ii) 52 (iii) 12 (iv) 51 (v) 50
2 17

1 5
8. Find the product of means of — : — and — : —
14 11 15 19

17

(i) 2 (i) 2 (iii) = (iv) 0 (v) ——
g7 () 53 (i) o5 (v V) See

9. Which of the ratios is proportional to 42 : 77
(i) 17:3 (ii) 19:3 (iii) 18:3 (iv) 18:0 (v) 18:5

10. Aratiois equal to 1: 5. If its antecendent is 756, what is its consequent?

(i) 3781 (ii) 3779 (iii) 3780 (iv) 3777 (v) 3783

11. Aratio is equal to 14 : 3. If its consequent is 2100, what is its antecendent?
(i) 9803 (ii) 9798 (iii) 9799 (iv) 9800 (v) 9801

2 4 7
12. Find the number which bears the same ratioto 6 that '6 does to 9

(i) 0 (i) 2 (ifi) : (iv) 2 (v)
9 7 7
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